


TEOREMAS DE LIMITES

Nombre completo:

Ejercicios: Determina los siguientes limites utilizando los teoremas

1.-lim5 = 1- Iim x=
XxX—=3 X—-=22
2.-lim—-2 = 2.- lim x =
X5 1 . .ic.—>18
- i = = SlIm Xx =
3. Jltl_rg = it
4.-lim—4 = 4. lim x =
x-0 x--1/4
5-1im15 = 5- lim x =
x—1 x—>-9
1.- lin% = (llm )=_ ()=
x=
2 Jim, ~5x=_(Jim, ) =_(_)-=
3-lim—4x=_ (lim_)=__(_ )=
x—4 x——4 -
4.- limz —8x =__ (lim _) _( ) =
xX—>— x——2
5 lin; o — (llm = R =
xX—

EJERCICIOS

1.-1lim(3x* — 5x+ 1) = lim(3x%) — lim (5x) + lim1
x—2 x—=2 x—2 x—2

=3(2)2-5(2)+1

=12-10+1=3






2.-.-lim(3x® — 5x% —4x + 2) = lim(3x?) — lim(5x%) — lim (4x) + lim2
x=5 x=5 x=5 x=5 x=5

=3( )®-5( )?—-4( )+ __

3.-lim (5x° + 4x* — x) = lim (5x°) + lim1(4x2) — lim1 €3)
x—- x—-—

=] X1

=5( )S+4( - ()=




